Losumopnn  OBlat

(2" ) ) = ()

- (5 2 10),

2 3¢ 4 1

Sude Ae € wt (A=A + 2=0 :

(-DDXN + 2 = O [ - (& +4) <=>

(A'L—1)-\ + 1(1.t4) = ) <:>
>\ = 4' +4
| -1 0 X
= ( @] O+« : ‘_'.((‘H) 44
PRy C ': :4 ) \) ig?{
O e ! “

" ¢ (44) il &

- - 4 4

X - —_— — " 1
=~ -

5 A A= 4 ("-.4)“-44, -4 - 1 2 2 A

D e Lsg. b x= (%)= (%) ed




=> N,z Atd4 =2 Atd (&Ww*t) @
(beadefe lag: 2y =X )
Zu v’ (Ef%vxwuﬁ A, )

(A-2.2)v = (5)

=g -1 0) P4
" ( 2 4-2 1 0 A=<

'
iA
+
A

Y

83 Wi A v o= N+ v’ => Av' = AV

—_—

Y
& Avt =

d
LI
i
g
A



A -3

7
A 40 = =S=a9P0 #2448 = =3 +(1—ﬁ')«',
i = (S V7)-(24c)= -10 -S4 -24T< +17

= -10+12 + (-5-27)<.

2 2l = (Copsem®)® = {27,

3. =t (eonlp scsaily))  wnk r=l2l = {27

ho 7 Wf Wil Vm‘&fwm%v (-5<0 wd -17<0!)

= acton (Z) - = acton (¥)-x.

i . 2’ = r3(Cc>(3f) + Smal3y)) =-9S-103,264 ¢

-

1 1. (8~-17) S- 47

= oF . _
. - -S T = (S+<)(5-<T) - 2% 424
. | . s A7 -
=~5: L5 ) = -3 T
lan

A

Got 4:

2 W




Moo Bed. 0 ViGy) =0
Y
Dxf"‘a = 21x -2 = 0 =S ==
2
35 f.ma) = 22+1 =0 <& y= -1

Mone. Bed . (ugte Uep. 6, §14 Sa 2)

Wkeruchae V'{(w ad Dwm .‘

& ol
e =2
0° .
5 ) 71
- a'l.

(@ S XeRNLOY . Darm  gulhk vt X= ()
¥ Veox = oy (6 1) (5)

=

2 x +2c()1 > O ) cdla x$o0 “lﬂf'}#'O,



(i) D M’c&{y_ E«%xmw:i Vow Vlf(".-t)
U\;A A= 4. >0

() Prsptundeadadleoavnanden vow Vi),
\’\,1 = )= > 0,

h, = (2 3) =4>0.

(), WY oo

LS Vi) wof  poder dyfunct |
= ("-‘4) Ust rd‘-ﬂ«m’) Ju/VV\MMUbw\ :



